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1) Determine whether the tables represent linear, exponential, or quadratic functions.
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2) Write an equation tc represent each table below.

Time Temperature {° F) Time | Number of People Who
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3) Write an equation to represent each scenario below.

a) Joseph starts teaching karate; when his karate studic opens, there are 8 students
enrolled. After 1 month, there are 11 students. Afier 2 months, there are 14 students.

After 3 months, there cre 17 students. © 8 = XX %

Lo
2 4
= 7]

b) There are cumently 4 prairie dogs in a colony. Each year, the number of prairie dogs

4 (2)*

c) A taxi driver charges $2.50 for the first mile and $1 .So@ddiﬂonol mile.
[-SOX +0.50
d) A culture of 6000 bacteria is Mvew hour.
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€} Ahot air balloon takes off at 5500 feet above sea level and rises 120 feeflevery
minute. | ,
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4) Which function below has The)largesf AROC gver the interval =2 < x < 32
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10) Given the functions belcw, which has the simaliest value when x = 12

fx)=2-3" glx) =5z ~1 | h(x) =22 —x |
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11) Find the raie of change beiwezsn x = =2 and x =

12) Find the y-intercept for each function below.
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13) For the word problems below, determine whether they represeni a linear or
expenential function, then write the equation for the function it represents.

a) A science experiment involves periodically measuring the number of mold cells
present on a piece of bread. At the start of the experiment, there are 50 mold cells.
At the first observation, there are 150 mold cells. Af the second observation, there are

450 mold cells. o ¢co Exooentiel <0 (3 ) *
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b) There are $30 in my wallet. Each month, | add $5 fo my wallet.
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c) There is $100 in your bank account. Each month, you get 5% in’reresTo your
account. -
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9 ) Using the function below, find the average rate of change between x = -3 and x = 1.
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o} Given the parent functions f(x) = 3x, g(x) = x2, and h(x) = x, which function is greatest at
X =22

f{x) b) gix) c) hix) d) none of these
K ' c

#t) In science class, your "egg drop"” drops a total of 12 feet the first second, a total of 24
feet the next second, a total of 36 feet the third second, and so on. What type of
function is this2

| 1>
@Lineor o) Quadratic C} Exponentiai d) None
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12} Decide whether the input-output data displayed in the table above indicates o
linear or exponential relationship and write an equation to model the relationship.

a) Linear: f(x) =2x+ 3
@ Linear: f(x) =3x+ 2
SrExponential: f(x) = 2+
SMxponential: f(x) = 2 3*
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i%) Find the y-intercept for the function below. %/ 3 it 1S POt ‘?H o -
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I4) Kurtis is collecting mice for @ science experiment. On the first day, he collects |
mouse. On the second day, he collects 2 mice. On the third day, he collects 4 mice.
On the fourth day, he coliects 8 mice. He continues to collect mice at this rate for a fotal

of 10 days. What type of function is thise

a) Linear b) Quadratic (O Exponential d) None
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i5) Which kind of model best describes the data graphed below?
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o) The chonge in the height of a ball from one bounce to the next if the ball is dropped
from a height of 12 feet is 75% of its previous height. Which of the following is frue?

a. This is an example of exponential growth with the growth factor being 1.75
This is an example of exponential decay with the decay factor being .75 |
,Q.’ This is an example of linear growth with the rate of change being .75. '
&7 This is an example of linear decay with the rate of change being -.785.
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Use the graph below to answer the fgllowing questions.

a) Which function has the
largest y-intercepte

A (O,%)

b) Which function has the
largest rate of change?
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[9) Which of the functions below has a larger y-intercepte Which of the functions below

et

[3) WﬁTc‘a;Enn equation to model the function in the table below.
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has a larger rate of change?
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@Fu nction f(x) 3

b) Function g(x) 2-

c) Their rates of change are the same

=\ ) Which type of function has a constant rate of change?

@Lineor b) Quadratic c) Exponential d) None

entire domaan

#7) Which type of function always has the greatest average rate of change overall.
—

a) Linear b) Quadratic @ Exponential d) None

Z?) Which function below has a greater y-infercept?

Machine 4 r Machine B a) Machine A's function

e
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b) Machine B's function
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@Their y-intercepts are the same
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2't) Which type of function has a vertex2

a) Linear @Quodroﬁc c) Exconential d) None



51 A fithess center requires its customers to pay an initial membership fee of $50 plus a

$3 usage fee each time they use the facilities. What fype of function is this2

inecrr b) Quadratic

c) Exponential

d) None

#2) Using the function reprsenfed in the table below, find the average rate of change

betweenx=1and x = 4.
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27) Compare and contrast the following functions.

a) Which function has the largest

T B

y-intercepte Explain. (1 point)
0
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b) Which function has the largest rate of change?
Explain. (1 point) 3(() < ROC 2.
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